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B3R EHRZETE Ac DFHE
le : £ o9—Fr£K 50(mm)
D : A Y—rHHEE (FUER) 22 (mm)
Ac = 3.14 x 50 = (50 + 22) = 11304 (mm?)

@-L HFARSIREE (REFER)
Paio= 1/3 % 0.31430 * 11304
6398 (N) = 6.4 (kN) (3¢ 653kg)

@-S HFARSIREE REFER)
Pais= 2/3 % 0.31430 * 11304
12796 (N) = 12.8(kN) (3¢1306kg)
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P.o. = D22 A#EE 70 (mm) % 50 (mm) % 1. 8 (N/mm?)

@-S HFARSIRFE (EHRFER)

Po2s = P.2L x1.5

LREFtRIEZLLE L.

ABEHREE P&, REAGIERE 6. 3 (kN) (3€643kg)

6300(N) = 6. 3 (kN) (3¢ 643kg)
= 9450(N) = 9.5 (kN) (3¢ 969kg)
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BEMRIL MREEFTE 9. 74 (kN) (3¢ 994kg)
(HERSZ 4.8)

BEARIL MREEFRTE 26. 0 (kN) (3%2653kg)
(RERXS 10.9)

TARILMERTE 4. 41 (kN) (3¢ 450kg)



